Transport Layer deals with the transmission of bits through the communications channel

Choose one answer. 
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	a. True 
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	b. False 
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The TCP protocol is working in the Link layer.

Choose one answer. 
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	a. True 
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	b. False 
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UNIX is an Operating System which was invented by Tim Berners Lee at the Bell Labs of CERN

Choose one answer. 
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	a. True 
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	b. False 
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SMTP, Telnet, FTP, HTTP protocols are all embedded in an operating system that is used to utilize the Internet

Choose one answer. 
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	a. True 
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	b. False 
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The HTTP protocol is working in the Network layer.

Choose one answer. 

	[image: image9.wmf]
	a. True 
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	b. False 
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The PPP protocol is working in the Application layer.

Choose one answer. 
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	a. True 
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	b. False 
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The goal of open architecture is achieved by proprietary computer languages and protocols

Choose one answer. 
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	a. True 
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	b. False 
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The IP protocol is working in the Application layer.

Choose one answer. 
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	a. True 
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	b. False 
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The XML protocol is the protocol used for file transfer through the internet

Choose one answer. 
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	a. True 
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	b. False 
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TCP/IP, which enabled the growth of the Internet, was a set of closed architecture protocols

Choose one answer. 
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	a. True 
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	b. False 
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The benefit of the UUCP is to:

Choose one answer. 
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	a. enable users of Unix to import new Unix programs and releases 
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	b. exchange some common discussions through a phone line 
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	c. discuss improvement of Unix machines 
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	d. All choices are correct 
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In any URL, the character ? means:

Choose one answer. 
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	a. A question 
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	b. Query 
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	c. Results 
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	d. HTML command 
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Which Mark-up Language is the standard for the support of e-business

Choose one answer. 

	[image: image29.wmf]
	a. HTML 
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	b. SGML 
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	c. XML 
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	d. EBML 
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Uniform Resource Locator (URL):

Choose one answer. 
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	a. is the way for specifying the location of an object (e.g. a file or a web page) on the Internet 
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	b. is the way for specifying the target of an HTML document only 
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	c. it specifies the access scheme or the protocol that is to be used 
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	d. All choices are correct 
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Hypermedia means:

Choose one answer. 
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	a. working in a hyper client-server media 
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	b. working in a P2P networking media 
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	c. linking images, sounds, animations and videos in addition to text 
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	d. All choices are correct 
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FirstClass is an e-mail and conferencing system that works on:

Choose one answer. 
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	a. a client-server model 
	

	[image: image42.wmf]
	b. a P2P networking model 
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	c. a WAN protocol model 
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	d. All choices are correct 
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Application layer has the following protocols:

Choose one answer. 
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	a. TCP, SMTP, HTTP, telnet. 
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	b. SMTP,HTTP, FTP, telnet. 
	

	[image: image47.wmf]
	c. IP, HTTP, FTP, telnet 
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	d. None of the choices is correct 
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The TCP/IP layer in which the user interacts with the Internet is:

Choose one answer. 
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	a. The Keyboard layer 
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	b. The Link layer 
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	c. The Network layer 
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	d. The Application layer 
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Generic or descriptive mark-up language:

Choose one answer. 
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	a. describes the purpose of the text in the document 
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	b. describes how the text should appear on the page 
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	c. describes WYSIWYG 
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	d. All choices are correct 
	


20 

Marks: 1/1 

UNIX is the first OS that was written in a:

Choose one answer. 
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	a. Low level language 
	

	[image: image58.wmf]
	b. High level language, C 
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	c. Binary language 
	

	[image: image60.wmf]
	d. Machine language 
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Hypertext is an old idea, and one that is not exclusively limited to computer-based or web-based text.

Choose one answer. 
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	a. True 
	

	[image: image62.wmf]
	b. False 
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The protocol that deals with assembly and disassembly of packets is the TCP protocol.

Choose one answer. 
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	a. True 
	

	[image: image64.wmf]
	b. False 
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W3C is an important body in the development of standards on the Net.

Choose one answer. 
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	a. True 
	

	[image: image66.wmf]
	b. False 
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The URL is the way for specifying the location of a file or a web page on the Internet

Choose one answer. 
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	a. True 
	

	[image: image68.wmf]
	b. False 
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Mosaic was the first GUI browser which supports images.

Choose one answer. 

	[image: image69.wmf]
	a. True 
	

	[image: image70.wmf]
	b. False 
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The Hypertext Transfer Protocol (HTTP) governs fetching and browsing of web pages.

Choose one answer. 
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	a. True 
	

	[image: image72.wmf]
	b. False 
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Network Layer of the TCP/IP stack deals with the addressing of packets

Choose one answer. 
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	a. True 
	

	[image: image74.wmf]
	b. False 
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Mosaic turned out to be the Killer Application for the Web

Choose one answer. 
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	a. True 
	

	[image: image76.wmf]
	b. False 
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TCP/IP is a set of standards and protocols that are used in the internet.

Choose one answer. 
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	a. True 
	

	[image: image78.wmf]
	b. False 
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The protocol used to send and receive e-mail is the SMTP protocol.

Choose one answer. 
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	a. True 
	

	[image: image80.wmf]
	b. False 
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